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QUESTION 1

Which of the following statements regarding CMM scaling is TRUE?
A. DBS VMs can scale out in steps of a single VM.

B. NECC VMs can scale out in steps of a single VM.

C. CPPS VMs can scale out in steps of a single VM.

D. IPDS VMs can scale out in steps of a single VM.

Correct Answer: C

QUESTION 2

Based on the exhibit output, which of the following statements is TRUE?

=A:CMG2-Podl#f show vm-function

VM Function Summary

VM Id Provisioned Type Admin Operational
Id Equiped Type (if different) State State
1 1 m20-v up up
2 isa-ip-reas-v up up
isa-ms-v
3 1 isa-mg-v up up
isa-ms-v
2 (not provisioned) up unprovisioned
isa-ms-v
A. This CMG has one LB VM and one MG VM.
B. This CMG has one LB VM and two MG VMs.
C. This CMG has two LB VM and one MG VM.
D. This CMG has two LB VM and two MG VMs.
Correct Answer: A
QUESTION 3
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Which of the following statements about 4G-5G RAN-level interworking solution is FALSE?
A. It requires a direct interface between the two radio nodes serving the UE.

B. One serving radio node acts as master node and the other as secondary node.

C. Only one serving radio node can receive data plane traffic from the core network.

D. One of the radio nodes serving the UE is the anchor point for control plane.

Correct Answer: A

QUESTION 4

Which of the following lifecycle management operations is NOT supported by the CMG?
A. Scaling of OAM-VM

B. Scaling of MG-VM in LB mode

C. Scaling of LB-VM in LB mode

D. Healing of OAM-VM, MG-VM and LB-VM

Correct Answer: A

QUESTION 5

Which of the following about CMG CUPS architecture is FALSE?

A. CMG user plane VNF implements the SGW-U, PGW-U, and GGSN-U functionalities
B. A 7750 SR MG communicates with a CMG control plane VNF over Sx interface

C. CMG control plane VNF can be deployed in LB-mode or LB-less mode

D. CMG user plane VNF can be deployed in LB-mode or LB-less mode

Correct Answer: C
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